Sample Test: Kinematics: Solution Key
Multiple Choice

1. a

2. a

3. e

4. c

5. a

6. b

7. c

8. b

9. a

10. e

11. b

12. c

13. e

14. d

15. e

Problems

16. 15 min

17. (a) 8.3 s; (b) 134 m

18. (a) 150 m [N]; (b) 25 m/s [N]; (c) 300 m [N]; (d) 28 m/s [N]; (e) 22 m/s [N]; (f) 3.5 m/s2
Short Answer

19. Initially, skydivers free-fall at acceleration rate of 9.8 m/s2 downward.  Due to air resistance, their acceleration rate decreases and may reach terminal velocity.  Once the parachutes are deployed, they slow down while still moving downward (accelerate upward) reaching a slower terminal velocity until they reach the ground below.

